

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 139495

Invoice Date: Oct 28, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket#	Payment	Terms
Shak	61187	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-04	Oakley	Oct 28, 2013	11/27/13

Quantity	Item		Description	Unit Price	Amount
1.00	WELL NAME	Stoll Comm #1-27			
210.00	CEMENT MATERIALS	Class A Common		17.90	3,759.00
115.00	CEMENT MATERIALS	Pozmix	101	9.35	1,075.25
81.00	CEMENT MATERIALS	Flo Seal	1101	2.97	240.57
6.00	CEMENT MATERIALS	Cottonseed Hulls		35.00	210.00
643.50	CEMENT SERVICE	Cubic Feet	DEOCH TEN	2.48	1,595.88
1,056.40	CEMENT SERVICE	Ton Mileage		2.60	2,746.64
1.00	CEMENT SERVICE	Port Collar 🗸	W 1 2012	2,483.59	2,483.59
40.00	CEMENT SERVICE	Pump Truck Mileage	NOV 1 1 2013	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	Illerence Tall)	4.40	176.00
1.00	CEMENT SUPERVISOR	Alan Ryan	The state of the s		
1.00	OPERATOR ASSISTANT	Kevin Ryan			
1.00	OPERATOR ASSISTANT	Chris Helpingstine			
1.00	OPERATOR ASSISTANT	Adam Flipse			
22.00	CEMENT MATERIALS	Gel		23.40	514.80
			10502-5		
			10207		
		Cubtotal			12 100 73

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,408.52

ONLY IF PAID ON OR BEFORE Nov 22, 2013

Subtotal	13,109.73
Sales Tax	472.67
Total Invoice Amount	13,582.40
Payment/Credit Applied	
TOTAL	13,582.40



## ALLIED OIL & GAS SERVICES, LLC 061187 Federal Tax I.D. #20-8651475

SOUTI		) BXAS 760:	92			SER	VICE POINT:	
	T						-87/77	<del></del>
DATE 10/28/13	<u>第2</u>	TWP.	RANGE 3U	CALLED	our	ONLOCATION	JOB START	10B FINISH
-LEASES TO / Com	MAYELL#-	-1:27-	LOCATION-	-20-141-6-1	Z.Xo		COUNTY	STATE
OLD OR NEW (CI		- V	HOLINION POP	uc i i i	= (M V		70011	
ODD OK (NEW (C)	reic one)		L			•	]	
CONTRACTOR	160	10 west	<u></u>	01111	- A	THE WA		
TYPE OF JOB	1168	THE COURSE	· · · · · · · · · · · · · · · · · · ·	OWN	ER KEE		2000 - 20	2
HOLE SIZE	T Wat	T.D.			P3 N I CCS			
CASING SIZE	/		<u>~</u>	CEM		<del>^</del>	c = 12 = 11	م
TUBING SIZE	- N	93 <u>d</u>		AMO	UNI OR	DERED 500	65/11.83	100,28
DRILL PIPE	· · · · · · · · · · · · · · · · · · ·	DE6				OB Hillson	Sicke	
	rcelloc	DEP		- Use	d-325	- <i>\$!</i> /s <sub>2</sub>	······································	
PRES. MAX	. LEMBE	DEP				240 40	Cu	
MEAS. LINE			IMUM		MON		-@773c	_ 3),59 🚐
CEMENT LEFT IN	1.000	SHU	EJOINT		ııx		_@_2 <i>_</i>	<i>*</i>
PERFS.	LCOG.	<del></del>		GEL		<u>91L</u>	_@ <i>237</i>	10>5=
DISPLACEMENT			21/2 Day		ORIDE_		@	
DISPLACEMENT	<del></del>		14 BBL	ASC_			@ <u>_</u>	·
	EQU	HPMENT			65ccl	\$ <sup>0</sup> //Ł	2_@ <u>&amp;**</u> _	240-
		4 -	_	·	<del>,</del>		@	·
PUMPTRUCK	CEMENT	ER Alan	43Uan	<i></i> / <sub>2</sub>	relli_	6 511	L@35	210
	HELPER		1 Buan			· · · · · · · · · · · · · · · · · · ·		
BULK TRUCK	1101711011	KW.	1/2 97401 1				@	
	DRIVER	N.S.	-12.00				@	
BULK TRUCK		COV.	TO CINA	<del></del>	·		@	
	ı DRIVER	etpings	me Luto	·				
·/	DIN I DIV		<del></del>	HAN	DLING	43.5 CF	10 2 40	1585-201
				MILE	AGEA!	Trafail 26	700	2246-2
4	RE:	MARKS:				,	ATOTA	9.80184
Osessure Syste	-Xn /20	0.00.7	nol Ed Co	1 ,00			(OIII	4 - H=30-71
AN Mark A	5.02.000 5.02.000	-611.	110/12 81	2 Rue		SERV	TOP	
Clay 70.91 72	ATT	2 12/10		077		SERV	ICE.	
Reverse Clin		sh San		Phy DEPI	טו אט זוי	ın	2401	
- Level Mary Control		-4 Jac				CHARGE	~~~	2483-18
								2435-
			· · · · · · · · · · · · · · · · · · ·		KA FOOT			7-12-5
***		-/w-/		_	AGE		@	308
		Hon	HUN CHAN,	MAN	IFOLD _	130	<u>@</u>	12.00
						40	@	
/17	<i>ii</i> .	1-1	٨		•	<del>- · · ·</del>	@	<del> </del>
CHARGE TO: £1	<u>r lus peu</u>	<u> ም (%1/ º</u>	Ules					Co
STREET	,						TOTA	12762 2
01XDD1				<del></del>				
CITY	s7	ATE	ZIP	-				
						PLUG & FLOA	YT EQUIPME	NT
•								
				<del></del>			@	
				-				
To: Allied Oil &	Gas Serie	ires IIC						
You are hereby re								
and furnish ceme								
contractor to do y								
done to satisfaction							TOTA	ւ
contractor. I have				AL				
TERMS AND CO	<b>INDITIC</b>	NS" listed	on the reverse s	side. SALE	STAX (	If Any)		<del></del>
				TOTA	ለፒ.ሮ#ልዩ	3GES 12.5	94.GB	
				1017	OUM	.2	~	<del></del>
PRINTED NAME,				DISC	OUNT _	7946	O IE PA	ID IN 30 DAYS
1	1 11	1				9 22	o. 2410e	ID IN 30 DAYS
SIGNATURE	الله ام					1,00	-10 -	
Some One		·						



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St.

Salem, IL 62881

### INVOICE

Invoice Number: 139008

Page:

Invoice Date: Oct 5, 2013 1

Now Includes:



Customer ID	Field Ticket#	Payment	Terms
Shak	61168	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-02	Oakley	Oct 5, 2013	11/4/13

Quantity	Item	Description	Unit Price	Amount
		Stoll Comm #1-27		
200.00	CEMENT MATERIALS	ASC	20.90	4,180.00
12.00	CEMENT MATERIALS	WFR-2	58.70	704.40
21.00	CEMENT MATERIALS	Salt	26.35	553.35
1,000.00	CEMENT MATERIALS	Gilsonite	0.98	980.00
141.00	CEMENT MATERIALS	CD-31	10.30	1,452.30
259.40	CEMENT SERVICE	Cubic Feet	2.48	643.31
449.71	CEMENT SERVICE	Ton Mileage	2.60	1,169.25
1.00	CEMENT SERVICE	Production	2,765.75	2,765.75
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
1.00	CEMENT SERVICE	Manifold Head Rental	275.00	275.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	CEMENT SUPERVISOR	Alan Ryan	•	
1.00	CEMENT SUPERVISOR	Andrew Forslund		
1.00	OPERATOR ASSISTANT	Chris Helpingstine		
		OCT 1 5 2012		
		OCT 1 5 2013		
		10501-5		
		()		
		<b>/</b>		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,433.91

ONLY IF PAID ON OR BEFORE Oct 30, 2013

Subtotal	13,207.36
Sales Tax	641.41
Total Invoice Amount	13,848.77
Payment/Credit Applied	
TOTAL	13,848.77

# ALLIED OIL & GAS SERVICES, LLC 061168 Federal Tax I.D. # 20-8651476

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SE	RVICE POINT:	yks
DATE   SEC TWP RANGE 34	CALLED OUT ON LOCATION	JOB START	JOB FINISH
OLD OR NEW (Circle one)	Pence 11/25 Einto	COUNTY,	SPATE
CONTRACTOR # 0 ) TYPE OF JOB Pred.	OWNER Sime		
CASING SIZE 414 // DEPTH 4865	CEMENT	166 100	a Ame
TUBING SIZE DEPTH	AMOUNT ORDERED 200 Alegal 5 Colorite 19	1170 100	Prill
DRILL PIPE DEPTH 300 TOOL POST COME DEPTH 2407	- 500 Gal WER	77	
PRES. MAX MINIMUM	COMMON	@	
MEAS, LINE SHOE JOINT 45-07 CEMENT LEFT IN CSG. 45.07	POZMIX	@	
CEMENT LEFT IN CSG, 45. θ7 PERFS,	GEL CHLORIDE	@	<del></del>
DISPLACEMENT TO BLED	ASC	<u>@</u>	418000
EQUIPMENT		@	
	WFRIF	_@ <i>\$<u>&amp;</u> 2</i> _	204
PUMPTRUCK CEMENTER HAN RYAN # 422 HELPER ANDREW FOCSTUND	Salt 21	@ 2635	253 -25
- 12 15 17 WIND TO STORE THE TOTAL THE TANK THE	Zz/2014. 1000	@	
# 396 DRIVER Chr. Helzingstin	Gillow te 1000	@_ <i>^.98</i> 	980
BULK TRUCK # DRIVER	CB31 1411/11	@102	145221
	HANDLING 259 CF- MILBAGE 2 2 2 /mill	@ <u>2 90</u>	643 =
, REMARKS:	MILCAUD A PRO / MICE		9682 53
Burley Ciculati Mix WFRTH, Mix 305KA	1/ <del>-</del>	IOIAL	1628 00
MAY 170 SK HOWN 9/2 Wash Truel	SER1	/ICE	
	3		
Displace Blug w/ No BAL W/ 800 PSTB	<i>Y-7</i>		
Cand Ply 0 1400 PST.	DEPTH OF JOB PUMPTRUCK CHARGE	2)	
Card Play 0 1400 PST.	DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE	<i>2)</i>	65 25
	DEPTH OF JOB		3080
Card Play 0 1400 PST.	DEPTH OF JOB		308 CC 275 CC 275 CC
Card Play a 1400 PST. Plant Held. This to man, andrew Chris	DEPTH OF JOB		176 E
Card Play a 1400 PST. Plast Held.	DEPTH OF JOB	<i>2)</i>	208 CE 275 CE 176 CE 17
Card Play a 1400 PST. Plant Held. This to man, andrew Chris	DEPTH OF JOB	<i>2)</i>	308° 275° 275° 275° 275° 275° 275° 275° 275
Cand Play 0 1400 PST.  Plant Held.  This to Many Bridgers Chris  CHARGE TO Shall speare	DEPTH OF JOB  PUMPTRUCK CHARGE EXTRA FOOTAGE  MILEAGE MANIFOLD = Stead  Chellehick	@@	
Card Play 0 1400 PST.  Float Held.  Think to Man, Andrew Chris  CHARGE TO: Shakespeare  STREET.	DEPTH OF JOB	@@	
Card Play 0 1400 PST.  Float Held.  Think to Man, Andrew Chris  CHARGE TO: Shakespeare  STREET.	DEPTH OF JOB	@@ @@ @ TOTAI	NT .
Card Play 0 1400 PST.  Float Held.  Think to Man, Andrew Chris  CHARGE TO: Shakespeare  STREET.	DEPTH OF JOB	@@	VT
Card Play 0 1400 PST.  Plant Hell.  That Kong The Man, Andrew Chris  CHARGE TO: Shall speare  STREET	DEPTH OF JOB	AT EQUIPMENT	YT
Card Play 0 1400 PST.  Plant Hell.  The Kong The Man, Andrey Chris  CHARGE TO: Shall speare  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment	DEPTH OF JOB	AT EQUIPMENT	VT
Charge To Shake speare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or	DEPTH OF JOB	AT EQUIPMENT	VT
Charge To Shake speare  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	DEPTH OF JOB	AT EQUIPMENT	YT
Charge To: Shake speare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL	DEPTH OF JOB	AT EQUIPMEN	YT
Charge To: Shake speare  STREET  CITY STATE ZIP  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or	DEPTH OF JOB	AT EQUIPMEN	VT
Charge to: Shablespeare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB	### ##################################	YT
Charge to: Shablespeare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB	### ##################################	VT
Charge to: Shake speare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.  PRINTED NAME  Doug  Roberts	DEPTH OF JOB	### ##################################	YT
Charge to: Shablespeare  STREET  CITY  STATE  To: Allied Oil & Gas Services, LLC.  You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	DEPTH OF JOB	### ##################################	YT



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

#### Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

## INVOICE

Invoice Number: 138928

Invoice Date: Sep 23, 2013

Page:

1

Now Includes:



Customer ID	Field Ticket #	Payment	Terms
Shak	61108	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Sep 23, 2013	10/23/13

Quantity	Item	Desc	cription	Unit Price	Amount
		Stoll Comm #1-27			
180.00	CEMENT MATERIALS	Class A Common		17.90	3,222.00
3.00	CEMENT MATERIALS	Gel		23.40	70.20
6.00	CEMENT MATERIALS	Chloride		64.00	384.00
194.64	CEMENT SERVICE	Cubic Feet		2.48	482.71
338.40	CEMENT SERVICE	Ton Mileage		2.60	879.84
1.00	CEMENT SERVICE	Surface √		1,512.25	1,512.25
40.00	CEMENT SERVICE	Pump Truck Mileage		7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage		4.40	176.00
1.00	CEMENT SERVICE	Swedge Manifold Rental		360.00	360.00
1.00	CEMENT SUPERVISOR	Kelly Gabel			
1.00	EQUIPMENT OPERATOR	Wayne McGhghy	DECEMENT OCT 0 7 2013		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

1,922.70

ONLY IF PAID ON OR BEFORE
Oct 18, 2013

Subtotal	7,395.00
Sales Tax	299.61
Total Invoice Amount	7,694.61
Payment/Credit Applied	
TOTAL	7,694.61



## ALLIED OIL & GAS SERVICES, LLC 061108 Federal Tax I.D. # 20-8651476

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT:
DAIB 7-23-13 27 1/6 32/	ALLED OUT ON LOCATION JOB START JOB FINISH
OLD OR NEW (Circle one)	(Cherekee Rd) 1/2 5 COUNTY STATE SCOTT K5
CONTRACTOR HO ACTIVING  TYPE OF JOB SUCTOCCE	OWNER Same
HOLE SIZE /2'/4 T.D. 27C	CEMENT
CASING SIZE \$ 5/8 DEPTH 270	AMOUNT ORDERED 180 5kg Com 342
TUBING SIZE DEPTH	180 3K3 (3M342
DRILL PIPE DEPTH	
TOOL DEPTH PRES, MAX MINIMUM	A01 -0
METO THE	COMMON_ 180 @ 1790 322200
CEMENT LEFT IN CSG. 15"	POZMIX @
PERFS.	GEL 35K5 @ 23 49 70 20
DISPLACEMENT 16 bb 1	CHLORIDE 65/18 @ 645 38469 ASC
EQUIPMENT	ASC
2 Community	<b>@</b>
PUMPTRUCK CEMENTER WOONAND KENLY DE	
# 4122 HELPER Wayne Mishal	<u> </u>
BULK TRUCK	· · · · · · · · · · · · · · · · · · ·
#347 DRIVER CLEY (TWS)	
BULK TRUCK	
# DRIVER	HANDLING 19414 CUFT @ 248 48271
	MILBAGE \$146 ton X40 x250 870 84
· REMARKS:	
Scherx more to un micros d 1.50	TOTAL 5,03875
Experx west with todged ris	o opputor
IGNOLUZGICT, Shut in	SERVICE
	DEPTH OF JOB 2201
Cement a Ed al railate	PUMPTRUCK CHARGE (51225)
	EXTRA FOOTAGE @
	MILBAGE MILV 40 @ 449 17600
- Strange you	MANIFOLD Swedge @ 36000
Killy order	MIHULIO @ 770 30800
and the second s	
CHARGETO: Shakespere	. 25.
STREET	TOTAL 23.562
CITYSTATEZIP	
	PLUG & FLOAT EQUIPMENT
The Allind Oil & Co. Co. Long ry O	@
To: Allied Oil & Gas Services, LLC.	@
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	JATOT
contractor. I have read and understand the "GENERAL	IVIAU
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
A SAULA OTTO CONDITIONS HAVE ON THE TEACUSE SIDE.	7 005 10
91 2 ( )	TOTAL CHARGES 1393.00
PRINTED NAME Stephen Joace	DISCOUNT 4900.70 IF PAID IN 30 DAYS
$\mathfrak{M}$	5,47230 Net.